CRIEHR] TH26F BEEARERE KiER

EEE [RRiTE EfER

1729 2906 59%
B7. ABEIBIZEDLSWMIRYET M ? 7. A EHfE
ES AERE EE% | EEE 5 :
1 [1EXRBE 396 23% (|
2 [1EULE~3FEXRH 585 34% m2
3 [BEULE~5FEXRE 278 16% o3
4 [BELE 463 27% 04
5 [REE 14 1% m5
A, NEEIINThICEYETHI?
5= AERE B EEES 4. g1
1 |Bi 27 2% m2
MESZ A 157 9% o3
3 |[BEXig2 145 8% 04
4 BN 298 17% m5
5 |EqriE2 306 18% o6
6 |ZENiE3 263 15% m7
7 |ENiEL 303 18% 08
8 |ENiES 202 12%
REIEES 40 2% mo

HY—ERXRBEIZDUT
M1 ERMTEOLI)I—2a B ETITAETADARICHELTWET M ?

e R R— LA A (G H=100)
8645 5683 66

= TERE TEE A= M1L.EMTECEEDLY)I— 3V

= = = ETIT4ETA

5 | 1. FEBICHE 349 20% 4 56 : =
4 | 2. LOFER 685 40% mo
2 | 8. EBLERNZR 560 32% 3

1| 4 OOFm 78 5% o3
0 | 5. FEICFHE 11 1% 04
0 | 6. kEZ 46 3% m5

2 b6

FRRTCEA-BRIIATTHN? EHEIEE)

E= B BE%R | BEE Il

1 |[LOVI—>avhEs 564 33% 1 —

2 [MOBERERRTES 368 21% n

3 [LYYT—2avhiRoRy 147 9% 2 | |

4 | ST IEEHADEL 349 20% 3

5 [Z0fts 289 17% i
6 [FEE 168 10% 4L '

5 1]

z 6 1

0) L

it 0% 10% 20% 30% 40%




F2 A HPBBICOVWTHRBLTLNET A ?

e R R— LA Ak (H5=100)
8645 4615 53
EH AERE BER | mEE Fi2.54 - 5
5 | 1. EBICHEHR 215 12% 5 6 1 -
4 | 2. POFRE 476 28% w2
2 | 3. EBLELENALLY 719 42%
1| 4 0OF5 198 1% O3
0 | 5. EBICFH 38 2% 04
0| 6 FEZ 82 5% 3 H5
o6
TERTEA-BHIIFITT M ? GEHEET)
= =5 EER | OEE 2. 23
1 |RHERITES 631 36% 1
2 EDTEXICNTS 104 6% B
3 [BEL\WMIATES 140 8% 2 /1
4 §§ﬁ§@‘§;€ _ 347 20% 3
5 BEDTEEIZUDIFALY 86 5% -
o501
6 | TN 433 25% ol
ESEES 236 14% ° /1
6 ]
z P e—
1@ 0% 10% 20% 30% 40%
B3 ER BEE. MM OLWTHEBLTWET M ?
R R R—LEk A G 5=100)
8645 5718 66
A AERE EE% | HEE EEGESS
5 | 1. EFBICHR 429 25%
4 | 2. HOHERE 743 43% a1
2 | 3. EBnEBLZELY 240 14% m2
1| 4 OOFE 121 7% o3
0 | 5. EFEICTH 13 1% 04
0 [ 6. KEE 202 12% ms
m6
FRRTCEA-BRIIATTHN? EHEIZEE)
= ER EEH | EEE F3. X
1 [BRIA DV FFICH-TLNS 94 5%
2 |ODEYIZBERNTEA/FLTIND 68 4% 1=
3 |eXPEUEFEFEICHE- TS 87 5% 2
4 [mMrEBUTLS 266 15% 3
5 ?ﬁﬁ@iﬁzﬂ(%ﬁb@%ﬂ&%%bf“é 106 6% 4 :|
6 |HEHZEANEYZITHhN TV 94 5% C
o501
T b BRI TS 637 am | 0
8 |Z0fh 263 15% 6 —1
9 [REZE 427 25% 7 E
) E—
9

FOA

10%

20% 30%

40%




B4 A—LRABIUVCABREROBREFRKRISOVTHELTWET M ?

e R R—LEk A (G 5=100)
8645 5545 64
R HERE EEN | OEE F.5 R
5 | 1. ERITHERE 468 27%
4 | 2. POHERE 650 38% a1
2 | 3. EB5EBLZHLY 210 12% m2
1 | 4 PO 185 11% o3
0 | 5 FEEICTH 17 1% 04
0 | 6. XKEE 167 10% m5
o6
LERTEZ-BAHEIMTTM? EHEET)
= T EEN | OEE RIS 2H
1 [XE VEVITHENRL 750 43% 1 |
2 |[BEAENL 649 38% B
3 |BAT-E-CTL\5 252 15% 2 F '
4 |ZBE.VEVT BN 11 1% 3/
5 |[BEAEL 138 8% 40
6_|RAREDLTLS 79 5% 5 — EES
7 | ZDih 249 14% C
P ESEES 265 15% 6 &
7
z 8
1@ 0% 20% 40% 60%




IR—LDRIGIZDNT

f5. F—LBEOXGITOVWTHELTLVET M ?

= a R— LA Aok (G 5=100)
8645 6571 L B6. 47 REYIDHIG

B EERE B EIp=E

5 | 1. EBITHERE 753 449 ot
4 | 2. POFRE 636 37% m?2
2 | 3 EBBEBNZAGN 107 6% 03
1 | 4. DOFHE 48 3% 04
0 | 5. EREIZAH 6 0% w5
0 | 6. kEZ 167 10% o6

EFERETEACEHEATI N ? EREER)

&5 ZH [B] £ [|] & 2= fH6. 22X
1 |TEHAELLBAEBLY 910 53%
2 [k<EHEL 433 25% 1T E '
3 [EBAZEBALLTLS 646 37% 2 E ]
4 |K<HBEKIZD-TNB 457 26% 3 ]
5 |&EORBNEE 184 11% 4 ]
6 |[wF—A &KLY 704 41% 5 L ,
7 |READEEAELAELTINS 902 52% 6 L ,
8 |mEA<EEL 27 2% ] :
9 |[&atEmEL 41 2% s b
10 [EBALHBALTRLAL 37 2% : SEZIL
1 |EhENERIZO> TN 12 1% 9B
12 [FEBORBATRE 52 3% 10 B
13 [ F—Ah 5B 14 1% 111
14 |READERHLTE 53 3% 12 &
15 [Z Dt 151 9% 13 ﬁ
16 [REIZ 183 11% =
15 ]
z 16 ]
)
#h 0% 20% 40% 60%

6. R—LICSERIBMFLEVWERSZLEFFAITY H ? GEREIZER)

5 EERE EEH | mEE R7. R—LICSERAFHT L
1 |[BEECEOR—LTELEL 1016 59% ] ‘ ,
2 |FHEBLIII—aDRE 542 31% g
3 [EBREORE 485 28% 2 ———
4 |AAY—ERDRE 268 16% 3 —
5 |ABOUNEIDRE 438 25% 4 2
6 |ERMLEY—EADKE 351 20% 5 0
7 | EDOFTE 161 9% 6 :
8 [RAVIICKREBICHH TEIHEEEOLTIZLL 161 9% o
9 |REVIDEE NERHOAL 251 15% T
10 |[REvohHEVBHBLESISLTELL | 597 35% 8 .
1 [ 90 5% 9 /4
12 |20t 142 8% 10 ————
13 |RkE%E 45 3% 1 &=
12 B3
£ 13 0
")
s 0% 20%  40%  60%  80%




	【ご家族様】集計結果

